Best model for HELP J104948.557+571416.243 at z = 0.935 x2=2.37
OPTx2=1.05 IRy?=5.27 threshold (OPT IR)=15.48 [um]

102 3 : Stellar attenuated
= 1 Stellar unattenuated
] . —— Dust emission
101 E m —— AGN emission
E = Model spectrum
i : ® Model fluxes
100 E : M Observed fluxes
ES
g 107" 3
3 2 ] -
- syt
E 10 _',,.1 ey ___“"' N,
10—3 4
10—4 4
X
>
© —— (Obs-Mod)/Obs
>
S
n
8 =17 >rr1TN--—--1-"/-"*--¥Y1f-———————————————-
) ]
2 ]
5 ]
© -1 - rr — e CAGAL
()
(o'

10° 10! 107 103 104 A
Observed wavelength [um]



